Logic Puzzle Worksheet Name:

1. Nancy, Olivia, Mario, and Kenji each have one piece of fruit in their school lunch.
They have a peach, an orange, a banana, and an apple. Use the clues to help you
determine which person has which fruit.

1. Mario does not have a peach or a banana.
2. Olivia and Mario just came from class with the person has an apple.
3. Kenji and Nancy are sitting next to the student who has the banana.
4. Nancy does not have a peach.
Nancy Olivia Mario Kenji
Peach
Orange
Banana
Apple

2. Mr. Guthrie, Mrs. Hakoi, Mr. Mirza, and Mrs. Riva have jobs of doctor,
accountant, teacher, and office manager. Use the clues to determine who has
which job.

Mr. Mirza lives near the doctor and the teacher.

Mrs. Riva is not the doctor or the office manager.

Mrs. Hakoi is not the accountant or the office manager.

Mr. Guthrie went to lunch with the doctor.

Mrs. Riva’s son is a high school student and is only seven year’s younger
than his algebra teacher.
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